IlepeBip cede (Bigmosimi) Ne 1

2x + 7y = 20

x—4y =16

Sx—y=23
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2. 8) (322) b)(3i25) o) (452 d) (-5 5);

y yepes X X 4epes3 y

a) 3x — 4y =12 Zx-3=y Xx=4+5y
b) 2x -5y =1 04x—-02=y x=0,5+25y
c) x—2y=6 y=0,5x -3 X=6+2y
d) %x+%y=0y=—%x X =— 6y

4. a)22; b) 17

5. 2)-5; b4 o L5 d) o

6. a) 2; b)4

7.7

8. 16; 11;6; 1.

9. (1:8)

10.2) (1;4); (25 5); (3;-6); b) (7; 1); (9; 2); (115 3);  d) Hemae
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https://docs.google.com/document/d/1MNn5R8XpTXrfTwdlgifcQXxcS7Jo542b/edit?usp=sharing&ouid=113861929756932734857&rtpof=true&sd=true

